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Conducting  an independent means !-test in "#$%&' 

A statistics tutor surveyed her class of 15 students about the time they spend on Instagram. 
Her students wrote the estimated minutes per day they spend on Instagram.  When the 
data was collected it was revealed that the students spent an average of 80.67 minutes a 
day on Instagram.  This tutor was also a postgraduate student and had asked her fellow 
postgrads to also give an estimate of their daily “Insta-minutes” as a comparison point.   The 
tutor asked her class, “Who do you think would use Instagram more?  You first year 
students?  Or postgrad students?”  There was much conjecture and the statistics class set 
about testing whether there was a significant difference in Insta-minutes between them and 
the postgraduate students.  
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Our dependent variable 
“Insta-minutes” has been 
specified as a continuous 
variable in Measure type 
and is the first column of 

data  

In the second column of our data spreadsheet we 
have a variable “Student Status” which tells "#$%&' 
which group the students are in.  You can see the 
measure type has been set as ordinal.  There are 

two levels to this variable.  First year students who 
have been given a code of 1 and postgraduate 

students with a code of 2.  The first 15 rows in the 
data set are first year students and then the second 

15 rows are the postgrads.   Our independent 
variable or grouping variable can be ordinal or 

nominal for an independent means !-test.  
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When you first select the Independent Samples T-Test the following screen will appear.  The 
analysis options appear on the left and the empty results appears on the right, ready to 
update as you select the analysis options.  
 

 
 
The first thing we need to do is specify our dependent and independent variables. 
 

 
  

On the Analyses tab select 
the T-tests menu, then 

select Independent Samples 
T-Test.  This is an alternate 
name for the Independent 

means !-test.   

We need to move Insta-minutes to the dependent 
variables box and student status to the grouping 

variable box.  This tells "#$%&' we want to compare 
Insta-minutes means across the groups or levels of 

student status.  
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Conducting  an independent means !-test in "#$%&' 

Moving our IV and DV into place gives us our initial !-test result. 
 

 
 
 
 
 
 
 
 
 
We need to ask for some additional statistics to aid our interpretation and write up of the 
results. 
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The “Statistic” value is the ! score we would 
calculate if we calculated it by hand.  We are also 
given the degrees of freedom (28, given that we 
have two groups of 15 and ()  = (*  – 1) + (*  – 1). 

Our + value here is .00027.  This value is less than 
.05 so we will reject the null hypothesis that there 
is no difference in minutes spent on Instagram by 

first year students and postgraduate students.   

Additional statistics that are helpful to ask for are 
descriptives  and the mean difference to help you 
describe the pattern of results. The effect size helps 
you describe the magnitude of the result you have 
obtained.  You can also ask for confidence intervals 
around the effect size or the mean difference. We’ll 
ask for these for our mean difference in this 
instance. 
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The four key components here are: 

1.! The ! score, ()  and + value – the !-test result 
2.! An effect size in the form of Cohen’s ( . 
3.! The mean difference and associated confidence interval – the difference between 

our two group means. 
4.! Descriptives for our data – mean and standard deviation are of most use here.  
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Here we have all the information 
to write up a detailed results 
paragraph.  Let’s pull the 
components out and see where 
they fit into the write up.  
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First year statistics students and postgraduate students estimated their daily number of 
minutes spent on Instagram.  First year students were found to spend significantly more 
time on Instagram E" %F GH2IJ%7+,;"#8K%#$%F%<L2MLN than postgraduate students E" %F <L2<<%
7+,;"#8 K%#$%F%3&2M&N, !%E3GN%F%>2&JK%%%O2HH&, " !"##%F%>L2<<K%MLP%&'%Q3<2HJK%IJ2IHR.  B+"0%)%
S/0#,T8%1%#@@#="%8+U#%/@%&2L3%this effect was large2 
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Tip: In APA format we report our + value to 
three decimal places.  Where our + value 
would round to .000 we report this as + 
<.001 and not + = .000 which would imply 
our + value is equal to zero when it is not.   


